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Hayek it =

Hayek (1945) “The Use of Knowledge in Society,” pp.526-527:

We must look at the price system as ..a mechanism for
communicating information if we want to understand
its real function ..The most significant fact about this
system is the economy of knowledge with which it op-
erates, or how little the individual participants need to
know in order to be able to take the right action ..by a
kind of symbol, only the most essential information is

passed on ...
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» ANG BT E M AER, Hayek 8k R F AL

» B Hayek X FT ENMNEFEEZHEXS D T EHE
B (RREE), ARERZERLTHN B E A
BHE R REAA . FAIM, ETESIX T2 Tt
HRHAERRETEMEERE, BARER AR,

» Hayek W18 £ 60-70 FREHMAT AL T AR THMBEK
(efficient market hypothesis) ##; Fama (1970).

» FFE R TH— 4% E L4 T Radner (1966), EE b4
MR .

» Grossman (1975, 76, 78) FF A H —E £, A RN 2T
% 5 Stiglitz 94 1EF (1976, 80) &7~ T 5 Hayek il
MEgdEE TR L.
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RENEKREE

> HHIWIEAERZ ZER: t=0,1,
> t=0 WX FZHELRT: TR E = F K&K~

v

t=18EWEELAHEH R FHENEE uo

> u=0+c¢c: 0, HAHRILE &;

t=0 BT UAMEISN 60 (555 e AWM CEF)D,
AEXZ % (trader): MM E] 0 ByF R gE M E] 0 8.
HEZZHILH T (AER). U (LfER), dlHl A\1-)

v

v
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W R B AR 5 7

w AR e e R % (CARA) + EA4# (normal
distribution): 4 & & % F| 893 -0 A A

»t=0HRZ#E i WABEAR. REE>H M;, X;; THE
KK PX;+ My =Wy = M; + PX;o
t=1KN{WELEN W, = RM; +uX;,

REIBA V(W) = —e~ Wi, 0 >0 A3 G RE R,
NG K EBhhy o, BR o=, Xio

O,e,v: EAEIHESS M, HE Ee =0,E0e =0 LLR

v

v

v

v

var(ulf) = var(e) = o2 > 0.
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ESRET CARA HHAZEYA

% E W~ N(u,o?), TIHHEV(W) 0T

EV(W) = — / e L e (=20 gy

0o _ 2 92 2
i [ |yt

[e%s) _ 2\2 2
:\/2_737 _ooexp{—(w /;0—1—2(10) —au—i-(lza?]dw

)
ea]ofo-37)]
:—exp[—a<[EW—(2LvarW>}
~—————

Y- Z 5T
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SILIEST

> HEMINEE X = (Xy1,...,X,) #WREZTEALA
(u, ), HEEE p=(EXy,...,EX,)", 7 £4EHE
COV(XZ,X )]]_<ij<no

=
0 X I Y R Y cov(X;, X;) =0,
> zé\ﬁf (51,...,&1) € R™, Xl,..., n Q/‘]é&“&éﬂé\

Y =X+ +&X,=€6'X
&j#/%ﬁlibﬁ]\ﬁy —EI—

EY = fT,u, varY = £' X¢.
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FHBLRMFHHIE

» HZEMAEE XY UREBRAZERH f(x,y).

» B8 X =z, Y WEHBREFETETA
_PrX=2Y=y)  f(z,y)
Flylz) = Pr(X=z)  [f(z,y)dy

T

> E(Y]X = z) = /yf(y\a:)dy WHY £ X EHAHNE,
» TH EY|X): TEM X WEHK.
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FHHAE R MR

» 2HZE# (law of total expectation): EY = E[E(Y|X)].

> 75 XYy i, U EY|X)=EY.

> BREEH g(-), Elg(X)Y]X] = g(X)E(Y]X).

s E(YIX) £ X % Y 8RN FRMES: E(Y|X) 28/

gagp-a
min E[Y — g(X)]?
9()
W (E—) #f.
» B Z=g(X) BHg() BFAERERBLEK, N

E(Y]Z) = E[Y|g9(X)] = E(Y|X).
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KA ESTHFHEE

» E XY RAZTES .

> EX Z=(V —EY) - XY (x _EX); MWK Z AELS
fi, HEZ=0,

» A cov(Z,X)=EZX =0, #% Z, X Bk, #—F
W, Z,g(X) #@EAT, ¥ EZg(X)=EZEg(X) =0,

> LTI Y — Z =EY + DY) (X _EX) £ X A Y &
BN T CER A,

XY
[E(Y‘X):[EY‘FM(X—[EX), #—
varX
X,Y)? s
var(Y|X) = varY — cov(X, ¥)* B —ANE A
varX
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BEEXZGEMIAEY A S XK~ FHK
» I RG#HENNE] 0, EHEKATE
E[V (W) (6] = — exp {— a([E(W1i|0) _ gvar(Wulﬁ))}
> Wy = RWo; + Xr(u — RP) ¥ 4o
E(W1;10) = RWo; + X1(0 — RP), var(Wy|0) = X702 —
E[V(W)|0] = — exp { - a(RWOi + X7(0 — RP) — gX?ag)] :

> T xR B SRk maxx, E[V/(Wy)|0] =

0 — RP

2
ao?

X1(P,0) =
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TEEXGENHENA S NG EFEK
> U X ZEAWNE] 0, 157 DL T HR 6 24 7 1) & o8 4%
Pr(6x) BEZIE PR u B A, BEHATE
E[V (W) P*] = — exp { a([E(WM-]P*) _ ;Var(W1i|P*)>}
> Wi, = RWy; + XU(U — RP) ] 4
E[V(Wh)’P*] = —exp |:— CL(RW()Z' +

Xu[E(uP*) — RP] — ;X[%var(u|P*)>}

> B E PTWEIE P, U XRERHE K.

ey _ ElulP*(8,2) = P) - RP
Xu(P; PY) = avar[u| P*(6,z) = P]
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Mt B E

v

R T E A MBER (0, 2)
X (P} (0,2),0) + (1 - N) Xy (P} (6,2): P}) = .

» XERMEEL P(0,2) BF BHREIN (self-fulfilling)
Fi: mRLGERRG#ZEA P*(-) RHENMNBIH, AW
L P*(0,2) WA RN HFE.

> XAWHE AR A EETE S, ERAN, TREER
A% # (noisy rational expectations equilibrium),

» HEERLGREX & LB HEMNE P*(0,2) =P #
Bz A XA (payoff-relevant state) #Ifz B; K EZ 0,
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BRI N E R

EIE 1
1BA% (0,e, 1) RAAB IR 5 09 B0 7, W) Lk BER B 2 — A3

Bt B Py = a1+ aswp(0,2)e HF aq, a0 ARBT X BF
Z}g(, CY2>0; % >\>OB-j-,

2
wy(f,x) =0 — %(w — Ex);

L AN=08, w(d,z) =
E: Y varz >0 B, MW T LEME o RATGEE

o
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PR B

» HENE PF TREHMAT 0 WERE wy M (az >0,

P;: 7\"%% W) fﬁi)%ﬂ)o
a’o?

» 4 N> 068, BN Ew) =0, var(wy|d) = /\25
T wy BEWXT 0ER.

» Fovarr =0, M wy=0, & P TARKBT 0, AEAER
2 % Br £ 42w W #15 B (inside information),
— AERAXZFAFERINETMBHLIE
Pi(0,x) = P st LLEHE 5 0,

» B (varz =0) HHZEF X EW (efficient market),
AN AL T A REEAE R E—#HW (varz > 0), T
MR T LR AR R

vare X
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SERASERRIIIAE L

» HE—ABKE N RS E. AT LB L E N EFKBK A
¥ NTHRNENSH %

»E%%,&Mixzmppﬁﬁfﬁﬁ%,%
E%<A<1ﬁ,ﬁ%%i%%%ﬁ%%i%%%%%ﬁm
L0=\HB, WEHLYANTEH;
Y AN=18, WEHLERAATEH.

» EREA: EXGFEt=0 %I c, RETURNE 0,
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X5 ERHAE A

» HERFMLGEEXRGEW AT E 2 5 4
Wiy = R(Woi — ¢) + [u — RP;(0,2)) X (P (0, 2),0),
WP, = RWo; + [u — RP; (0, 2)]| Xy (P (6, x); PY).
> ETEIERA EV(W),EV(WY,) B, Bikx 5% R amH
O,e,2,Wo;) DT, Bl: XGEFEZEREEREHRBEER,
KRG A T BN E| &AL T B Ry SZ I,
> Woi ZHAE: Py A Ha#t—FBRI% X SEENLE.
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BIEE. TEETHEMARELH

EIE 2

Bk (0,e,0) A EIRZW EESNH, § X, MEMRE, WA
EV(W3) var(u|0)
—PATE)  gae [ TRRVT) ).
e wp) ¢ var(uhoy) Y

E: EV(WR),EV(WY),) <0, var(ulf),var(ulwy) # 4 &%k, H

var(ul|f)/var(uwy) < 1.

EIE 3

(1) <1, W Q,P) A—AHE F40)>1, W (0,PF) £
—AHfE E A€ 0,1 H y(N) =1, M (A P}) £—ANHH,
L Py XT wy FRBEHE, y(\) REALIE,
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EVIw)) A
y
EV(W)) y(\)

\

e ac var(u*i8)
/ —_—

varu
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PHIEESIREAVRE : N BUMER

2\ 2 2 2
ao o o
m:< E) -2, n=-2.

A O'g o

> WHEA A, var(ulf)/var(ulwy) = (1+m)/(1+m+nm).
LHHFHAT O< A<, N

£¥ pg & PO WRERSK, TRIE o} = b
> NI DU b — R )X T A SR B A
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ERBNMIAIERN AT EE

EIE 4
(a) =T % L

RE o2 =0, ML (ARY) o< /Tn i34
RAEE. (b) FEFLEA

XEM 02 =0, WHBHRELE,

'

IEBA: 4 X =0 B, var(ulf) = o2, var(u|lwy) = var(u) = 02 + 02,
W v(0) = e*y/02/(02 + 02) = e*/\/1+n,

B A>0, WE AN =e*//T+nm/(m+1). Bk, % 02=0
B o2=0H8, m=mn=0, & limy_ovy(\) = limy_oe® > 1,
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